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Time: 2 hours

READ THESE INSTRUCTIONS CAREFULLY

- You have been given this question booklet and a separate answer sheet. The question booklet

contains 50 questions.
Do any necessary rough work in this booklet. :
When you have chosen your answer, mark it on the ANSWER SHEET, not in this question
booklet.
HOW TO USE THE ANSWER SHEET
Use only an ordinary pencil.
Make sure that you have written on the answer sheet:

YOUR INDEX NUMBER
YOUR NAME
NAME OF YOUR SCHOOL

By drawing a dark line inside the correct numbered boxes mark your full index number

(i.e School Code Number and the three- figure Candidate’s number) in the grid near the top of the
answer sheet.

Do not make any mark outside the boxes.
Keep the answer sheet as clean as possible and DO NOT FOLD IT.

For each of the questions 1-50, answers are given. The answers are lettered A, B, C and D. In
each case only ONE of the four answers is correct. Choose the correct answer.

- On the answer sheet the correct answer is to be shown by drawing a dark line inside the box in

which the letter you have chosen is written.

Example:
In the question booklet:

A plane was flying at a speed of 288km/hr. Calculate the average speed in m/s.
A. 120 m/s

B. 80m/s

C. 144m/s

D. 48m/s

The correct answer is B on the answer sheet:

IA] Bl (c1 o1 (A1 # (€D [A] [B] [C] [D] R(A] [B] [C] [D} BERIA] [B] [C] (D]

Your dark line MUST be written in the box
For each question ONLY ONE box is to be marked in each set of four boxes.

This questions papers consist of 8 printed pages TURN OVER
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1. Which of the following numbers is seven

million nine hundred and ninety seven
thousand and seven in symbols?

A. 7997070

B. 7977600

C. 7997007

D. 79097007

2. What is the place value of digit 4 obtained
after working out 0.4896 + 12 ?

A. Tenths

B. hundredths

C. thousandths

D. 0.0408

6. What is the next number in the pattern:

1,25,10:17.96} 1
A.37
B. 36
C.39
D. 40

7. The decimals 0.18312. 0.18132, 0.18123,

0.18213 are to be written from the largest
to the smallest. Which of the following is
the correct order?
A.0.18312,0.18213, 0.18132, 0.18123
B. 0.18123, 0.18132, 0.18213, 0.18312
C. 0.18132, 0.18312, 0.18123, 0.18213

D. 0.18132, 0.18213, 0.18312, 0.18123
8. A square garden has an area of 7225m>.
What will be the length of wire required to

3. What is the difference between the LCM
and the GCD of 12,18 and 36?

A. 36 fence four strands of wire round the
B. 30 garden?
C. 42 A. 85
D. 6 3 B. 340

4. What is 798.895 rounded off to the nearest C. 1360m

hundredths? D. 115600m

A. 79889 9. Which of the foll'owmg sets. of
B. 798.9 m_easurements will form a right angled
C. 798.90 triangle when constructed?

- A. 6cm, 8cm, 12cm
B. 9¢m, 16cm, 25¢cm
C. 8cm, 12c¢m, 13cm
D. 7cm, 24cm, 25¢cm

D. 798.900

5. What is the value of:
48+6+4;3—32+8x2+7

A 19 10.. In the year 2018, the number of animals
B. 5 in a farm was 3200. In the year 2020, the
C. 15 number of animals increased by 40%. How
D. 77 many animals are there in 2020?
: A. 1280
B. 1920
C. 4480
D. 3280
2021 XCPE Standard 8 Mathematics Page 2

Scanned by CamScanner



. 0.25x 3.6
11.What is the value =———

0.45
A.2
B. 0.02
C. 02
D. 20
Ul g 4
12.The fractions BisaGis and 5 are to be

arranged in order from the smallest to the
largest. Which one of the following is the
correct order?

3'2°7°9"s

13.A distance of 10 kilometers is represented
on a map by a length of 5 cm. What is the
scale used?
A. 1:20000
B. 1: 200000
C. 1:2000
D. 1: 200

14. In a farm, there are pigs, rabbits and birds.
The number of pigs is 15 more than that of
rabbits. The number of birds is three times
that of rabbits. If the number of pigs is p,
which one of the expressions below
represents the number of the animals in the
farm?
A. 3p -60
B. 5p+ 30
C. 5p- 60
D. 5p+60

3 1 2
15.What is the value of 75-+ = = 1

1
A.l'i—u
B.l-a;
B

11
D. 1-5-

16.Thirty litres of milk was given to a class
of 60 pupils to share equally. How many
deciliters of milk did each pupil get?
A5
B. 50
C. 500
D. 0.5
17.An aeroplane left London at 2155 h on
Tuesday. It took 7 hours 45 minutes, to
reach Nairobi. When did it reach Nairobi?
A. Tuesday 5:40 am.
B. Tuesday 5:40 p.m.
C. Wednesday 5:40 p.m.
D. Wednesday 5:40 a.m.
18.Which one of the following quadrilaterals
has only one pair of parallel lines?
A. Trapezium
B. Rectangle
C. Rhombus
D. Parallelogram
19.Mutua sold an item for Sh. 19800 and
made a loss of 10%. What was the cost of
the item?
A. Sh. 17820
B. Sh. 18000
C. Sh. 2200
- D. Sh. 22000
20.What is the place value of digit 6 in the
number 706082902
A. Hundred thousands
B. Millions )
C. Tens of thousands

D. Six hundred thousands
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21. What is the value of y in the equation

2y—3 _ 2y

3 5
A 15

B.32
4

C. 42
2

D72
2

22.What is 4 : 5 as a percentage?

A. 125%
B. 80%
C. 40%
D. 50%

23.. What is the volume, in cubic centimeters,
of a cylinder whose diameter is 28 cm and

a height of 20 cm? (Take 7=
A. 49280
B. 12320
C.2112
D. 880

24.The ratio of cows to goats in a farm is 3:2. '

If there are 210 more cows than goats, how
many animals are there in the farm?
A.1050
B. 420
C. 140
D. 360

25.What is the total value of digit 8 in the
number 90805467?

A. 8,000,000

B. Hundreds of thousands
C. 80,000

D. Eight hundred thousand

26.What is 60995 rounded off to the nearest
1000?
A. 60000
B. 60900
C. 60990
D. 61000
27.What is the value of
3ab’ + 5xb® if &= 5,
yx o ax
y=3, x=4 and b=2
A. 76
B. 6
Lo
1B fr

28.The marked price of a radio was sh. 15000.
Aura paid Sh. 12000 after getting a
discount. What was the percentage
discount offered?

A. 20%
B. 25%
C. 80%
D. 125%

29.0chieng deposited sh. 60000 in a bank that
paid compound interest at the rate of 10%
per annum. After 2 years he withdrew all
his money. How much did he withdrew?

A. Sh. 66000
B. Sh. 72600
C. Sh. 72000
D. Sh. 12600
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30.The pie graph below shows how a class of 33.The perimeter of the isosceles triangle
90 pupils chose their favorite sports A, B, below is 80 cm. Line BC = 30 cm.
C,DandE. ”‘
13 Pupils
B 20 Pupils
B
I C
24 Pupils 14 Pupils
B 30cm C
What is the area of the triangle in cm®?
> A. 450
In a pie chart, how many degrees would B. 375
represent the pupils who chose sport B? C. 300
A. 5° D. 150
B 20° 34.An open cylindrical tin of diameter 28 cm
Co7e° ‘ and height 21 cm was painted on the
D. 96° outside. What was the area painted?
31.A rectangular tank whose base measures (Take =2 '
8m by 5m contains water to a height of i
4m. How much water in litres is in the A. 12936 cm’
tank? B. 3080 cm’
A. 160L C. 1848 cm’
B. 160000L D. 2464 cm’
C. 1600000L |
D. 0.160L 35.A pickup whose mass is 1.5 tonnes when
32.Ndunge borrowed sh. 10000 at a simple empty was loaded with 20 bags of sugar
interest rate of 15% per annum. How much each of mass 100 kg and six bags of beans
money altogether did she pay back at the each of mass 65 kg. What was the total
end of 2 years? mass, in tonnes, of the loaded pick up?
A. Shs. 3000
B. Shs. 13000 i
B. 2390
C: Shs. 3225 C. 3890
D. Shs. 13225 B 3890
‘-:
2021 " Standard 8 Mathematics ~ Pages
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36.The triangle ABC below has been drawn
accurately.

B
What is the size of angle BAC.
A. 30°
B. 90"
C. 60"

D. 150°
37.What is the value of

A 1175
B. 19
oo
=11

38.In the figure drawn below, line MYTQ,
XZQ and TZR are straight lines. Line YX
is parallel to TR. Angle MYX = 118° and
angle XZR = 44°.

M Y T Q

‘What is the value of angle TQZ?
A 118°
B. 74°
€. 62°
- D. 44°

. 2021 XCPE

39.The table below shows post office rates for
sending letters, postcards and

aerogrammes.

Inland

Not Over 20 g | Sh. 18.00 *

Not over 50 g | Sh. 21.00

Not over 100g | Sh. 24.00

Not over 250 g | Sh. 36.00

‘| Not over 500 g | Sh. 60.00

Not over 1 kg | Sh. 96.00

Not over 2 kg | Sh. 141.00

International Air Mail
Europe | America | Far
East
Aerogramme | Sh. 27 |Sh.35 |Sh. 42
Post cards Sh. Sh. 18 | Sh. 33
25.50

Kaparo sent the following mail:
1 letter of mass 14 g
1 letter of mass 780 g
1 letter of mass 1.6 Rg
Two postcards to Britain
(Europe)
1 postcard to America
1 aerogramme to Far Tast
How much money did she pay for the
mail?
A. Sh. 366.00
B. Sh. 354.00

C. Sh. 330.00
D. Sh. 399.00

"~ Standard 8 Mathematics 3 Page 6
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40.Mr . Waweru bought the following items
from a supermarket
3kg rice @ sh 120
2 bars of soap @ sh 140
2kg packet of sugar for sh 150
3 litres of milk @ sh 50
2 % litres of kerosene @ sh 60
If he gave the shopkeeper two-shilling
1000 notes how much balance did he
receive?
A. Shs 1105
B. Shs 895
C. Shs444
D. Shs 280

41.Forty two taps can fill a water tank in 14
minutes. How many taps are needed if the
tank is to be filled in 12 minutes?

A. 91
B. 49
i
D.6
42.Below is a net of a solid.

When the net is folded, which of the solids
below will it form ?

A. Tniangular based pyramid

B. Rectangular prism

C. Triangular prism

D. Rectangular based pyramid

43.The triangle PQR below has been drawn |
accurately.

Draw a circle toucﬁing the points P,Q, and R.
Measure the radius
A. 1.9cm
B. 3.8cm
C.43cm
D. 8.6 cm
44.How many more cubes are needed to
complete the stack below?

-

L LT A T A
Lol ol o N

A. 94

B. 137
C. 245
D. 108

: Stamﬁz 8 ﬁemat eme ics Page 7
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45.The hire purchase price of a television is
25% more than the cash price. Kalayu
bought the television on hire purchase
terms by paying a deposit of Sh. 12000
and the remaining amount in 12 equal
monthly instalments. If the cash price was
Sh. 48000, how much was each monthly
instalment?
A. Sh. 60000
B. Sh. 48000
C. Sh. 4000
: D. Sh. 5000
46.A saleslady gets a basic salary of Sh. 9000
and a 6% commission of sales above
Shs.80000. In one month she sold goods
worth Shs. 380000. What was her total
earning that month?
A. Sh. 18000
B. Sh. 27000
C. Sh. 22800
D. Sh. 31800
47.. The figure below represents a plot of land

made up of a rectangle and four semi-circles.

The rectangle measures 42 m by 14 m.

1

o

-

Iz - g
b
3

What is the disrta-n_lcéi all round the plot of
land in metres? (Take 1t=‘=27—2)

A. 176

B. 1540
C. 2128
D. 3080

48.The bus fare from town T to town X
was decreased by 20% and later increased
by 20%. If the original fare was Sh. 250,
what is the new fare?

A. Sh. 250
B. Sh. 240
C. Sh. 200
D. Sh. 160
49.Maradona was admitted in hospital on the

morning of 26" September 2020, which
was on Tuesday. He was discharged on the
morning of November 4™ the same year.
On which day was he discharged?

A. Thursday

B. Friday

C. Wednesday

D. Saturday

50. The graph below represents the journey
of a bus travelling from town W to Y.

=}
b §
2
£
150
S
8
H .
g 100
(=1
50
15
+
OSam Sam 10am 1lam 12poon
Time

What was the average speed for the whole
journey?

A. 80 km/h

B. 70 km/h
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ENGLISH
SECTION B:

COMPOSITION Time : 40 minutes

YOUR NAME

NAME OF
YOUR SCHOOL

READ THESE INSTRUCTIONS CAREFULLY.

1. Inthe spaces provided above, write your name and the name of your school.

2. Now open the page read the heading of the composition carefully and write
your composition on the lines provided.

This Question Paper consists of 4 printed pages.

You have 40 minutes to write this composition.

Page 1lof4 Composition Std 8
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The following is the beginning of a story. Complete the story making it as interesting as
you can.

Cattle theft had become very common in our location. It was the last Friday of the month so
my father had come home from his place of work

................................................................................................................
................................................................................................................
................................................................................................................
................................................................................................................
................................................................................................................
................................................................................................................

................................................................................................................
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NAMBA YAKO YA
MTIHANI

JINA LAKO

JINA LA SHULE
YAKO

SOMA MAAGIZO HAYA KWA MAKINI

1. Kwenye nafasi zilizoachwa hapo juu andika namba yako kamili ya mtihani, jina

la shule yako.

2. Sasa fungua karatasi hii, soma kichwa cha insha kwa makini na uandike insha
yako kwenye nafasi uliyoachiwa.

Umepewa dakika 40 kuandika insha yako.
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Andika Insha ya kusisimua juu ya:

Kulima mavune, kuvuna vicheko

Page 2 of 4 Insha Darasa la Nane (8)

Compiled& distributed by Schools Net Kenya, P.O. Box 15509-00503, Nairobi | Tel:+254202319748
E-mail: infosnkenya@gmail.com | ORDER ANSWERS ONLINE at www.schoolsnetkenya.com




Page3of4 Insha Darasa la Nane (8)

Compiled& distributed by Schools Net Kenya, P.O. Box 15509-00503, Nairobi | Tel:+254202319748
E-mail: infosnkenya@gmail.com | ORDER ANSWERS ONLINE at www.schoolsnetkenya.com




Page4of 4 Insha Darasa la Nane (8)

Compiled& distributed by Schools Net Kenya, P.O. Box 15509-00503, Nairobi | Tel:+254202319748
E-mail: infosnkenya@gmail.com | ORDER ANSWERS ONLINE at www.schoolsnetkenya.com




Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



SOCIAL STUDIES & RE

W =

iy

N

NAE0; o)

33

11.
12.

Time:2 hours 15 minutes

SOCIAL STUDIES AND RELIGIOUS EDUCATION

P

INSTRUCTIONS TO CANDIDATES (Please read these instructions carefully)

You have been given this question booklet and a separate answer sheet.The question booklet
contains 90 questions.

Do any necessary rough work in this booklet.
When you have chosen your answer, mark it on the ANSWER SHEET, not in this question

booklet.
HOW TO USE THE ANSWER SHEET
Use only an ordinary pencil. .

Make sure that you have written on the answer sheet:
e YOUR INDEX NUMBER
YOUR NAME
- NAME OF YOUR SCHOOL,
By drawing a dark line inside the correct numbered boxes mark your full index number

(i.e School Code Number and the three- figure Candidate’s number) in the grid near the top of the
answer sheet,

Do not make any mark outside the boxes.
Keep the answer sheet as clean as possible and DO NOT FOLD IT.
For each of the questions 1-90, answers are given. The answer are lettered A B,Cand D.In

5 Ao

- On the answer sheet the correct answer is to be shown by drawing a dark line inside the box in

which the letter you have chosen is written.

Example
In the Question Booklet:
In Kenya, Laws are made by :-
A. Executive
B. Cabinet
C. National assembly
D. Judiciary

B 41 181 1 o) (A} (8] [C1D)  [#[A] [B] [C] [D) Blia1 51 1 101 BYia1 v () o)
The correct answer is i €

On the answer sheet:

Your dark line MUST be written in the box.
For each question ONLY ONE boy is to be marked in each set of four boxes.

TURN OVER

| .

This questions Papers consist of 8 printed pages
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1. The climate of the Southern Western part of the
area covered by the map is likely to be:
A. Cool and Wet
B. Hot and dry
C. Hot and Wet
D. Cool and dry
2. The Administrative head of TIVA area is the?
A Governor
B. Area MP
C. county commissioner
D. County representative
3. The land in the area covered by the map rises
from?
A. North East to South West
B. North West to East ==
C. North West to South East
D. South West to North East
4. Which of the following is NOT an economic
activity carried out in Tiva area?
A. Farming
B. Tradmg 3
C. Transport
D. Fishing
5. The main reason that has influenced population
distribution in the Southern part of the area
covered by the map is?
A. good transport net
B. nearness to town
C. fertile soils in the area
D. good climate
6. The approximate area of the game park in
- square kilometres
A. 12 km’ B. 16km’
C. 4km’ D. 20 km’

7. Saku wants to start a business at Gimba market
from which office is he going to obtain his
trading licence?

A. County Government B. Chiefs office
C. DO's office at town D. Police station
8. Which of these pre-historic sites is NOT found

in Ethiopia?
A. Melka Konturi B. Omo Valley
C. Hadar D. Kondoa
9. Which of the following is NOT an example of
items made in traditional industries?
A. Basket B. Fisth traps
C. Tyres D. Bows and arrows

Use the diagram below to answer questions 10 and

coow

10. The forces X are
A. Tensional
B. Compressional
C. Folding
D. Faulting
11. Which of these is NOT an example of a
mountain formed through the process
represented by the map?
A. Ruwenzori
B. Atlas
C. Cape Ranges
D. Drankensburg
12. Which of these is the least important benefit of
African rivers?
A. They are a major source of water for
man
B. They are a major source of water for
irrigation
C. They help in generation of Hydro-
electric power
D. They are a major transport water way.
13. Who among these African leaders never
voluntarily retired from politics?
A. Leopold Senghor
B. Jomo Kenyatta
C. Julius Nyerere
D. Nelson Mandela
14. In which of the following ways is a person
likely to be infected with HIV and AIDS?
A. Sharing injection needles with an
infected person
B. By shaking hands with an infected
person
C. By sharing clothes with an infected
person
D. By playing games with an infected
person
15. The first Black President of South Africa was:
A. Samora Machel
B. Nelson Mandela
C. F.W. De Klerk
D. Robert Mugabe

forces.

16. Brian, a boy in class eight has seen a pen
misplaced in his class. The BEST thing for him
to do is:
A. Retain the pen with him
B. Give one of his friends
C. Hand over the pen to the teacher
D. Leave the pen where he has seen it.
17. Which of the following was NOT a way of
interaction in the past?
A. Trade
B. Games and sports
C. Religious rituals
D. During raids and wars

PAGE 2
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45. Which of the following police units in Kenya is
correctly matched with its duty:
A. General Service Unit — Assisting in stopping
riots
B. Administrative Police — Guarding suspected
criminals
C. C.1.D. — Providing security to government
officers
D. Dog Handlers Unit — Recovering stolen
animals
46. Which one of the following is NOT a
characteristics of Equitorial climate:
A. High temperatures throughout the year
B. The area receives two distinct rainy seasons
C. The region mainly receives convectional rainfall
D. The climate is influenced by warm Guinea
Currents -
47. Which of the means of transport is the cheapest
on land?
A. Road
B. Air
C. Rail
D. Water
48. The main problem experienced by Jua Kali
artist in Kenya is?
A. Tiliteracy among members
B. Inadequate capital for expansion
C. Competition
D. Inadequate transport facilities
49. Which of the following statements is TRUE
about the population of Kenya, and Germany.
A. Both countries have high life expectancy
B. In bath countries population is evenly
distributed
C. In both countries there is high
population densities in urban areas

D. In both countries there is high rate of &

Crime
Study the diagram below

500 5 W@u@ Bne B
SRS S

50 . The feature above was formed as a result of
A. sinking B. Folding
C. Faulting D. Volcanicity
51. Which of the following problems is NOT a
problem facing Tourism in Kenya:

| A i

A. Inadequate sites
B. Poor infrastructure
C. Insecurity :
D. Competition from other countries
57. Kabe finds a herd of elephants from a nearby
game park damaging his crops. Which one of
the following actions should he take?
A. Ask the neighbours to help him kill the
animals
B. Drive the animals to the police station
C. Chase the animals away from his farm
D. Report the matter to the Kenya wildlife
services
53. Which of the following statements is true about
Swaziland:
A. Elections are held after five years
B. The head of the government is the King
C. The head of state appoints the cabinet
D. It was a Pourtuguese colony
54. Which of the following is NOT an economic
benefit of river projects in Africa:
A. Production of H.E.P.
B. Provides water for irrigation
C. Controlling floods
D. Providing fishing grounds
55. The best way of encouraging Kenyans to be
law abiding is by:
A. Rewarding those who obeys the laws of
the land
B. Punishing those who break the laws of
the land
C. Educating people on the importance of
obeying the laws of the land
D. Praising those who obey the law
56. Who among these was not a founder member
of KANU:
A. James Gichuru
B. Tom Mboya
C.Odinga Oginga
D. Ronald Ngala
headquarters of COMESA are in:
A. Zambia
B. Tanzania
C. Uganda
D. Nigeria
58. Which of these is NOT a benefit of
democracy?
A. Allows equal distribution of land
B. Allows formation of many parties
C. Allows citizens to elect their leaders
D. Allows freedom of speech
59, Location of Bamburi cement was MAINLY
influenced by:
A. Availability of land
B. Availability of raw materials
C. Availability of water
D. Availability of good transport

T

Pl .z
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60. Which of these is NOT one of the national
Philosophies in Kenya:
A. Nyayoism B. Harambee
C. African Socialism D. Pan Africanism

PART 1l
CHRISTIAN RELIGIOUS EDUCATION

61. Which one of the following statements from
the Bible shows that God wanted human
beings to take care of the environment:
A. Let us make man in our own image
B. Have many children and fill the earth
C. Let the earth produce all kinds of
animal's life

D. Live all over the earth and bring it under _

control
62. What do Christians learn about the relationship
between husband and wife from the Genesis
stories of creation:
A. They should fear one another
B. They should help one another
C. The wife should obey the husband
D. The husband should have power over
the life
63. Which one of the following is NOT an example
of drug abuse:
A. Taking medicine without a prescription
from the doctor
B. Habitually depending on drugs
C. Taking medicine prescribed by a doctor
D. Injecting oneself with heroin
64. To help the youths use their energy fruitfully
and use their time fully, the society should:
A. Construct more schools
B. Provide more recreation facilities
C. Introduce sex education in the school
curriculum
D. Instill more discipline in the youth
65. Which commandment did the devil tempt Jesus
to break:
A. Worship no God but me
B. Observe the Sabbath day and keep it
holy
C. Do not commit murder
D. Do not use my name for evil purposes
66. The three of the following categories of books
in the New Testament. Which one is NOT?
A. Epistles
B. Historical
C. Gospels
D. Wisdom
~ 67. Which one of the following statements does not
describe the character of God according to the
traditional African society? -
A. God is jealous
B. God is merciful

C. God is the father of the community
D. God is the sustainer of the universe
68. Which one of the following types of worship is
practiced in both Christianity and traditional
African communities:
A. reading of scriptures
B. confessing of sins
C. reciting of creeds
D. celebration of sacraments
69. Which one of the following statement is a
traditional African belief about God?
A. God is the giver of life
B. God will come to judge the world
C. God is guarded by angels
D. God is three in one
70. Who among the following prophets foretold
that Messiah would give sight to the blind:
A. Ezekiel B. Micah
C. Jeremiah D. Isaiah
71. Which of the following is the BEST reason
why Jesus and His parents went to live in
Egypt?
A. There was drought in Nazareth
B. There was a good harvest in Egypt
C. King Herod wanted to kill Jesus
D. Pharaoh invited the family there
72. The Roman Emperor who was ruling when
Jesus was born: ]
A. Herod B. Caesar Augustus
C. Quirinuis D. Pontijus Pilate
73. From the book of Genesis wc‘ieam that Joseph
requested his brothers to carry his remains to
the promised land when he died. Which one
of the following reasons best explains why he
did so?
A. There are no graves in Egypt
B. He was a foreigner in Egypt
C. The Israelites believed in life after death
D. He wished to be buried in the land of his
forefathers
74, Which one of the following did not take place
when Jesus died:
A. God's people who died rose and were
seen in Jerusalem
B. There was darkness for three hours
C. Religious leaders and elders repented of
their sins ‘
D. The temple curtain was torn into two
75. In traditional African communities children are
told folk tales MAINLY to:
A. keep them occupied
B. teach them moral values
C. entertain them
D. teach them the history of their
community

|
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76. It is important for Christians to forgive others
in order to:
A. win respect in the community
B. become famous in the community
C. become leaders in the community
D. maintain harmony in the community
77. Which one of the following activities was NOT
done by the early Christian Missionaries to
Kenya?
A. They built churches and hospitals
B. They taught Christianity to the natives
C. They taught natives useful skills such as
carpentry and masonry
D. They encouraged and promoted
traditional African practices.
78. But Jesus said 'Let us first feed the children. It
isn't right to take the children's food and throw
it to the dogs' to whom did Jesus give this reply
from the request that had been made?
A. Jairus an official of the local synagogue
whose daughter was dead
B. A Roman Officer whose servant was
sick and about to die
C. Jewish Officer whose daughter was dead
D. A Gentile woman from Syria whose
daughter had demon
79. After Jesus died, the statement 'Truly this man
was the son of God' was made by:
A. Nicodemus
B. The répentant thief
C. Pilate’
D. The Centurion
80. Who among the following Kings disobeyed
God's command to kill all animals captured in

war?
A. Saul B. Solomon
C. Jeroboam D. Ahab

81. The main reason why King Solomon built the
temple in Jerusalem was to:-
A. unite the people of Israel
B. have a place for offering sacrifice to God
C. to fulfill the Prophesy of Nathan
D. have a place for keeping the Ark of the
Covenant
82. The boy raised to life by Prophet Elijah was the
son of the :
A. Rich Shunemite woman
B. Canaanite woman
C. Widow of Zarephath
D. Widow of Nain
83. Which of the following statements is true about
~ Joshua:
A. He led the Israelites in the making of the
Sinai Covenant
B. He received the Ten Commandments

from God
C:He lcd the Israelites into Promised Land

_

D. He led the Israelites out of bondage in
Egypt
84. Which one of the following activities by the
communities in Kenya demonstrate care for
God's creation: :
A. Wildlife Conservation
B. Road Construction
C. Burning of charcoal
D. building of factories
85. Who among the following missionary groups
sent Dr. Johann Ludwig Krapft to Kenya in
1844:
A. Holy Ghost fathers
B. Church Missionary society
C. Church of Scotland Mission
D. Mill Hill fathers
86. The story of the annunciation of the birth of
Jesus is written in the book of:
A. Revelation B. Mark
C. Luke D. Romans .

87. The temptations of Jesus Christ in the desert |

teaches Christians that they should:
A. seek earthly riches
B. do the will of God
C. look for food when hungry
D. run away from trials :

88. "I will send upon you what my father has
promised. But you must wait in the city until
the power from above comes down upon you

(Luke 24:29) This promise of Jesus to his
disciples was fulfilled when they:
A. Chose Judas successor
B. Choose the seven deacons
C. Shared their belongings with one another
D. Received the Holy Spirit
89. During school holidays, Atieno a standard eight
pupil was involved in the activities listed
below: Which one of them is the best example i
of the use of leisure: :
A. she visited grandparents' home
B. she took part in a walk to raise money
for a community centre ,
C. she attended her cousin's wedding party
D. she celebrated her birthday to which she
invited her friends
90. Your classmate John has a habit of throwing
waste papers in the school compound. The best
action for you to take is to:
A. Remind him of how to care of the f
environment
B. Place dust bins in the compound l
C. Report him to the class teacher |
D. Ask him to collect the papers

Scanned by CamScanner



	SOARING HIGH KCPE 2
	MATHS-STD-8-Teacher.co_.ke_
	ENGLISH-STD-8-Teacher.co_.ke_
	composition-kcpe-prediction-1-2020
	KISWAHILI-STD-8-Teacher.co_.ke_
	insha-kcpe-prediction-1-2020
	SCIENCE-STD-8-Teacher.co_.ke_
	SOCIAL-STUDIES-STD-8-Teacher.co_.ke_



